. \
M d
J‘ '
Vb
o - z.f’ Fi
- L -
Rozméry
Rada Tlak [MPa] Pramé&r trubky Ozna&eni matky Oznaceni
krouzku
M L d S
LL 4 M - 04LL M8x1 11 4 10 PR - 04LL
LL 10 5 M - O5LL M10x1 11,5 5 12 PR - O5LL

LL 6 M - O6LL M10x1 11,5 6 12 PR - 06LL



LL

40

10

12

15

18

22

28

35

M - O8LL

M - 06L

M - 08L

M- 10L

M-12L

M- 15L

M -18L

M -22L

M - 28L

M -35L

M12x1

M12x1,5

M14x1,5

M16x1,5

M18x1,5

M22x1,5

M26x1,5

M30x2

M36x2

M45x2

12

14,5

14,5

15,5

15,5

17

18

20

21

24

10

12

15

18

22

28

35

14

14

17

19

22

27

32

36

41

50

PR - 08LL

PR - 06L

PR - 08L

PR-10L

PR-12L

PR-15L

PR-18L

PR-22L

PR -28L

PR -35L



80

63

40

42

10

12

14

16

20

25

30

M -42L

M - 6S

M - 8S

M - 10S

M-12S

M - 14S

M -16S

M - 20S

M - 255

M - 30S

M52x2

M14x1,5

M16x1,5

M18x1,5

M20x1,5

M22x1,5

M24x1,5

M30x2

M36x2

M42x2

24

16,5

16.5

17,5

17,5

20,5

20,5

24

27

29

42

10

12

14

16

20

25

30

60

17

19

22

24

27

30

36

46

50

PR-42L

PR - 65

PR -8S

PR-10S

PR-12S

PR-14S

PR-16S

PR - 20S

PR -25S

PR - 30S



L1

L1

L1

L1

L1

L1

L1

40

25

38

16

18

18

22

28

M - 385

M - 04L1

M - 05L1

M- 16L1

M -18L27/1,5

M -18L27/2

M -22L30/1,5

M - 28L39/1,5

M52x2

M10x1

M10x1

M22x1,5

M27x1,5

M27x2

M30x1,5

M39x1,5

32,5

11

11,5

18

20

18

20

22

38

16

18

18

22

28

60

12

12

27

32

32

36

46

PR - 38S

PR - 04L

PR -05L

PR-16L

PR-18L

PR-18L

PR-22L

PR -28L



